B2 5 (3 4BIHR)
A TREMT T 5 A e

be={1{[}
ZH]

(faamie AL - BEESSS)

T H# % = iy R E573 % EEE AT FH R KRR
T =+ 4 M13/\ AL BRI X T /KB T2 03
B M4 E
T % & pr FATERTHEAET | (A
H ST 4 6 A 19 A e
T 1 T %= fE 3l KBS AR T
ES) Sf 2 £ 3 A 24 H
f8 4 # R B4 B MLSINE S FE R EOR N ES B4
WHLEE A A2 Hil A R Hh P BB A SSERT T o - 2 6 75 16
% fL & # ¥ 58,600,000~ (Fik) R & ¥ 62,186,000~ (Bik)
T E Al FELNBH S S
5 1B #6147 FELNBH
T T TR0 % A
& Rl o7
K 4 ¥ 64,460,000  (BiiA) moAa ® 94.23%  CxIALAHA - EHAE)
i 2 HEMET. 1=56.8m PBHEIT L=295.1m AFLH ofn ot £ 6 A 11 H
¥ & g4 & # ¥ = Ed & f
1| Tk st 60,500,000 |11
2 oREUERAAH 59,500,000 |12
3| MRStz MM 58,600,000 |13
41 RS HARP 60,000,000 |14
hkss 5] wemmeman #E |15
6 BNl 16
7 17
8 18
9 19
10 20

FRTEHEHICROIETRK

2 W OB B =

iy
d

ST = A H
S A H

R O

1




